
Finance Math Fall 2020 
Review Packet 

KY
Part 1: Algebra Skills 

1. Simplify: (5x-6x-9) + (8x +2x+3) 

7x2X-6 
2. Multiply: (5y?z5)(-3xy°z")

M+N 
ull 

15xy 2 
3. Multiply: (3a +5)(3a -7) 

34 3434.7 S.34 S7) 
9a-214 +/Sa -3S a-4-35 

4. Solve the following system of equations for x. 

x+3y 1 

5x-3y-25 
6Y 2 

-
5. Solve the following system of equations for y. 

4x+ 3y = 9 93y 9 
z (2x+5y = 8) 

6. Simplify: (-3x 3)2 

a (0: q" 

a 
Ru 

-

Ix 
. 



7) Subtract: (5x2+ 7x) (3x?-x+9) 
5x+7 X-3 x+X 

| 2X 8X -9 
8) Find a factor of 4x 25x-21.. 

4. C 4(-) yx-eX+3X -
xx-7)+3 (x-7) 

FACTU 
(RouPIN 

9) Multiply. 15x*ys 24x 

8xy 5xys 

3-3 
y3 

Use fix) = 3x - 2x + 5 and glx) = 4x-2 for problems 10-13. 

10) Find f(2) - gl4). 

3(2-2()+s - (9(4)-1 ) 

11) Find g(f(x). 

(waxs)-i fo)-12y-eX +18 
2y X +7o -2-12-Find g(f(-4)) 

9(f n(4)-6()-1e 12{(1) +71ae 
E 17 71 ie -247 

13) Find f(g(x)) 
HAND 

FCgLo)- 3YY-y -2 (4X-2 )+S 

3( 4xXY +4 -¢Y+1 
3(4-ItX +9) -0X +9 
12Y OX +n-8X *9 

12Y-SX +2 



VAUM O THU 
VeT tonmulas 14. What is the vertex of y = x - 4x+ 3? 

X- 
2a 2 

X-2 y- (2)-()+? 
y - +? 

15. Solve 2x 5x-12 = 0. 

(2x-3)(x+)* 

16. Write in lowest terms:x -4x-12 A)) x-9x+18 

CULt 

-
17. Graph. Is (1,0) a solution to this system of linear inequalities? 

3x 4y123)+4(o)< 1 > 3<1n yes 
Os v YGT 

X- y< hx +5 
y-3 

O2-3 

wohs I ALL THREG 

18. Find the solution(s) of y = 2x 3x- 35

O= y-3X-35 

X-1)(+ S) 
LeSS A CH 

2X-7 0 
1147 X -s 

7 X:-S 
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